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Answer the following questions : ( 12marks for each)

Question One:

A) Write the scientific term indicative of the following :

1- Organel inside the macrophages engulf the antigen and digest it by
enzymes into fragments .

2- Two hormones play an important role in preserving calcium level in
the blood to normal .

4- Kind of joints connect the bones of skull together through its serrated
tips .

5- A mean contraceptive prevents the fertilized ovum to be implanted in
the uterus.

B) Interpret the following :

1- Polyploidy is less common among animals than plant.
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3-Some plants can secrete antimicrobial proteins.

C- Scientifically wife can born from her husband after his death ,
show the scientists ambition to do it.
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Question Two
A- Shadow the circle of the correct answer :

1- For the synthesis of protein consists of 50 amino acids , the number of
nucleotides on MRNA should be at least ...........

2- The following codons are representing stop codon except ......... .

(@) UAG
(®) UAA
(c) UCA
UGA
3- During cellular immunity, activated helper T cell secretes .
(@) Interleukins and cytokines
@ Interleukins and perforin
(¢) Cytokines and perforin
Interferon and cytokines
4- All the following hormones can convert glycogen into glucose expect .

@Glocagone
@ Insulin

(¢) Adrenaline
Noradrenaline
5- Genes of blood groups are located on chromosome no. ............. :
R
(b) Eighth
(¢) Ninth

(d) Eleventh

6- Paramecium reproduces by .............
budding
gametes

@
®
binary fission
@

sporogony
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B) The First spermatocytes divide in testis of man -The skin cells
divide after their cutting or rupture.

1- Mention the kind of division in the two cases .
Firstcase ...,
Second Case......ovvviiiiiiii i,
2- Importance of two division in the two cases .
Firstcase ...,
Second Case......oovviiiiiiii i,
3- The number of chromosomes in the two cases.
Firstcase ...,
Second Case......ovvviiiiiiii i,

C) Show the important role of FSH and LH hormones in human
males and what is the result from decreasing them in a wife.

L-FSH role INmMale ..o e e et
2-LH role iNmale ...

3-The decreasing secretion of them in wife .
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Question Three

A) Give reasons for each of the following:

1- Ligase enzyme essential for genetic stability .
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BYWhat would happened with demonstrate for the following :

1- Disappearance of nucleolus in eukaryote.
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C) Mention the site and function of the following :

organ

Site

Function

Epididymis

.............................

.............................

.............................

.............................

The lymph
nodes

.............................

-----------------------------

-----------------------------

.............................

.............................

.............................

Neural
canal

.............................

Poly-
adenine tail

.............................

.............................

.............................
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Question Four:
A) Correct the underlined word:

1- Perforin activates certain genes in the nucleus of the infected cell ,
leading to destruction and death of the nucleus

3- Half pelvic girdle consists of humerus . radius and ulna.

twins .

6-The activated B cells are divided and differentiated into T-cells and
Macrophages

BYWhat is the importance of the following :

1- Cholecystokinin hormone.
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2- Phenols and glycosides.

C) Compare between :

Budding in yeast

.............................................

.............................................

---------------------------------------------

............................................

............................................

--------------------------------------------
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Question Five

A) Find the odd word and give reason :

1-( aldosterone - cortisone- adrenaline - chorticosterone) .
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B)A gene has the following sequences on one strand :
TAC—TCC—TTT—TAC—TCC—ATT’S

3
Write :

1- Sequence of nitrogen bases on mRNA molecules copy from the former
strand.
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C) What is meant by :

1- double fertilization

D) Both ribosome and protein contribute for producing each other.
Discuss this statement .
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Draft
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